
Practice Paper – 2019 
Class:  X 

Subject: Mathematics 
 Time: 3 Hours                                         Max. Marks:  80 
General Instructions: 

1. All the questions are compulsory. 
2. The question paper consists of 30 questions and it is divided into four sections A, B, C 

and D. 
3. Section A comprises of 6 questions carrying 1 mark each. 
4. Section B comprises of 6 questions carrying 2 marks each.  
5. Section C comprises of 10 questions carrying 3 marks each.  
6. Section D comprises of 8 questions carrying 4 marks each.  
7. There is no overall choice. However, an internal choice has been provided  
8. Please write down the Serial Number of the question before attempting it. 

सामाÛय Ǔनदȶश : 
1. सभी Ĥæन अǓनवाय[ हɇ | 
2. इस Ĥæन पğ मɅ कुल 30 Ĥæन हɇ िजनको चार भागɉ A, B, C, तथा  D मɅ बाटा गया हɇ | 
3. भाग A मɅ 6 Ĥæन हɇ िजस मɅ Ĥ×येक 1 अंक का है | 
4. भाग B मɅ 6 Ĥæन हɇ िजस मɅ Ĥ×येक 2 अंक का है | 
5. भाग C मɅ 10 Ĥæन हɇ िजस मɅ Ĥ×येक 3 अकं का है | 
6. भाग D मɅ 8 Ĥæन हɇ िजस मɅ Ĥ×येक 4 अंक का है | 
7. इस Ĥæन पğ मɅ कोई पणू[ ͪवकãप नहȣ ंहɇ  परÛतु कुछ Ĥæनɉ मɅ आÛतǐरक ͪवकãप Ǒदए गये हɇ | 
8. Ĥæन का उ×तर ͧलखने से पहले उसका Đमांक अवæय ͧलखे |  

 
Section –A 

 1. State whether 7 × 11 × 13 + 7 is a composite number or a prime number. 
7 × 11 × 13 + 7 एक भाÏय संÉया हɇ या अभाÏय संÉया | 

2. If one zero of P(x) = 4 x2 – (8 k2 – 40 k) x – 9 is negative of the other find the value 
of k. 
यǑद  P(x) = 4 x2 – (8 k2 – 40 k) x – 9  का एक शूÛयक दसूरे शूÛयक  का योÏय ĤǓतलोम हो 
तो k का मान £ात कȧिजये | 

3.  Find the 10th term from the last term of the A. P. 3, 8, 13… 253. 
 स. Įे.  3, 8, 13… 253.का अंत से 10 वा ंपद £ात कȧिजये | 

Or Find the sum of first 15 multiples of 8. 



15 के Ĥथम 8 गुणजɉ का योग £ात कȧिजए | 
4. Find the distance between the lines 3x + 6 = 0 and x – 7 = 0. 

रेखाओं  3x + 6 = 0 तथा x – 7 = 0 के बीच कȧ दरूȣ बताइए | 
5.  Δ AHK is similar to Δ ABC. If AK = 10 cm, BC = 3.5 cm and HK = 7cm, find AC. 

           यǑद  Δ AHK , Δ ABC  समǾप हɇ और  AK = 10 cm, BC = 3.5 cm तथा HK = 7cm                
हो तो AC का मान £ात कȧिजए | 

6. If x = a sin A and y = a cos A then find the value of x2 + y2.  
यǑद  x = a sin A तथा  y = a cos A  तो x2 + y2 का मान £ात कȧिजये | 

Or 
Find the value of   9 Sec 2A - 9 tan2A . 
9 Sec 2A - 9 tan2A का मान £ात कȧिजये | 

Section – B 
 7. What is the digit at unit place of 9n?  
9n का इकाई का अंक बताइए | 
 

Or Show that any positive odd integer is of the form 4q + 3 or 4q + 1 where q is some 
integer.  

          दशा[इए ͩक एक धना×मक ͪवषम पूणाɍक 4q + 3 या 4q + 1  के Ǿप का होता हɇ, जहाँ q एक पूणाɍक   
है | 

8. Find the ratio in which y axis divides the line segment joining the points A (5, -6) and 
B (-1, -4).  
y अ¢ पर वह ǒबदं ु£ात कȧिजये जोͩक ǒबÛदओु ंA (5, -6)  तथा B (-1, -4) को ͧमलाने वाले 
रेखाखंड को  बांटता हɇ | 

9. Out of 250 bulbs in a box, 35 bulbs are defective.  One bulb is taken out at random 
from the box. Find the probability that the drawn bulb is not defective.  
एक बÈसे मɅ 250 बãब हɇ िजनमɅ से 35 बãब ख़राब हɇ | बÈसे मɅ से एक बãब यɮÍÎया Ǔनकला 
जाता हɇ | ĤाǓयकता £ात कȧिजये ͩक यह बãब ख़राब नहȣं हɇ | 

10.  One alphabet is chosen out of the alphabets of the word “BHARTIYA”.  What will 
be the probability of getting a vowel?  
शÞद “BHARTIYA”   के अ¢रɉ मɅ से एक अ¢र  चुना जाता हɇ तो उस अ¢र के èवर होने कȧ 
ĤाǓयकता Èया होगी ? 

11. Use Euclid’s division algorithm to find the HCF of 16 and 28. 
युिÈलड ͪवभाजन एãगोǐरथम ɮवारा 16 और 28 का म. स. £ात कȧिजये | 

12.  Which term of the A.P  5, 15, 25 … will be 130 more than its 31st term? 
 स. Įे.  5, 15, 25 …    का कौन सा पद इसके 31 वɅ पद से 130 अͬधक होगा | 



Or 
Which term of the AP 84, 80, 76, 72 ……… will be the first negative term? 
स. Įे.  84, 80, 76, 72 ……… का कौन सा Ĥथम पद ऋणा×मक होगा ? 

 
 

Section – C 
 

13. Find the value of k such that 3x2 + 2kx + x – k – 5 have the sum of zeros as half of 
their product. 
यǑद बहुपद 3x2 + 2kx + x – k – 5  के शूÛयकɉ का योग उनके गुणन का आधा हो तो k का मान 
£ात कȧिजये | 

14. Show that the points A (5, 6), B (1, 5), C (2, 1) and D (6, 2) are vertices of the square.  
दशा[इये ͩक ǒबदं ुA (5, 6), B (1, 5), C (2, 1) तथा D (6, 2) एक वग[ के शीष[  हɇ | 

Or If the distance of P (x, y) from the points A (3, 6) and B (-3, 4) are equal prove that 
(3x + y) = 5. 

      यǑद ǒबदं ुP (x, y) कȧ ǒबÛदओु ंA (3, 6)  तथा B (-3, 4)  से दरूȣ समान हो तो ͧसƨ कȧिजये   
       (3x + y) = 5. 

 
15. Solve the pair of linear equations x – 7y + 42 = 0 and x – 3y – 6 = 0. 

रेͨखक समीकरण युÊम   x – 7y + 42 = 0 तथा  x – 3y – 6 = 0. को हल कȧिजये | 
Or 

 For what value of k, the following system of equations will be inconsistent? 
           k के ͩकस मान के ͧलए Ǒदए गए रेͨखक समीकरण युÊम असंगत हɇ | 
                    kx + 3y  = k – 3,  12x + ky = k. 

16. Find the area of the triangle whose vertices are (1, -1), (-4, 6), and (-3, -5). 
एक ǒğभुज का ¢ेğफल £ात कȧिजये िजसके शीष[  (1, -1), (-4, 6),   तथा (-3, -5) हɇ | 

17. The cost of fencing a circular field at the rate of rupees 24 per meter is rupees 5280. 
The field is to be ploughed at the rate of rupees 0.50 per m2. Find the cost of 
ploughing the field. Take ( π = 22/7). 
एक वतृाकार खेत मɅ 24 Ǿपये ĤǓत मीटर के दर से बाड लगाने का खच[ 5280 ǽपए हɇ | खेत कȧ  
0. 50 ǽपए ĤǓत मीटर के दर से जुताई करने का खच[ £ात कȧिजये | 

18. A large right circular cone is made out of a solid cube of edge 9 cm; find the volume 
of the remaining solid.  
अͬधकतम ͪवमाओं वाले एक लàब वतृीय शंकु को एक 9 cm ͩकनारे वाले ठोस घन मɅ से काटा गया 
हɇ | बचे हुए  ठोस का आयतन £ात कȧिजये | 
 



19. A student notes the number of cars passing through a spot on a road for 8 periods 
each of 10 minutes and summarizes it in the table given below. Find the mode of the 
data. 

एक छाğ एक èथान पर खड़ ेहोकर 10 ͧमनट के 8  अंतरालो के ͧलए वहाँ से गुजरती हुई कारɉ कȧ     
सÉंया को नोट करता हɇ तथा Ǔनàन ताͧलका मɅ दशा[ता हɇ | Ǒदए गए आंकड़ो का बहुलक £ात कȧिजये | 
Time Interval 
समय अÛतराल  

Frequency / No. of cars 
बारàबारता / कारɉ कȧ संÉया 

0 – 10 7 
10 – 20 14 
20 – 30 13 
30 – 40 12 
40  - 50 20 
50 – 60 11 
60 – 70 15 
70 - 80 8 

20. Prove that   
ͧसƨ कȧिजये  
√ (1 + Sin A) / (1 – Sin A) = (Sec A + tan A)  

Or 
Prove that 

           ͧसƨ कȧिजये  
           (Sin A + Cosec A )2 + (Cos A + Sec A )2 = 7 + tan2A + Cot2A. 

21. Prove that if a line is drawn parallel to one side of a triangle to intersect the other two 
sides in distinct points, the other two sides are divided in the same ratio.  
ͧसƨ  कȧिजये ͩक यǑद एक ǒğभुज कȧ एक भुजा के समांतर रेखा  इस Ĥकार खींची जाए ͩक यह 
ǒğभुज कȧ दो अÛय भुजाओं को ͧभÛन ͧभÛन ǒबÛदओुं पर काटती है तो वह दोनɉ भुजाओं को एक हȣ 
अनुपात मɅ बाँटती हɇ |  

Or  Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the 
squares of the other two sides.  
ͧसद कȧिजये  ͩक एक समकोण ǒğभुज मɅ कण[ पर बना  वग[  दसूरȣ दो भुजाओं पर बने वगȾ के 
योग के बराबर हɇ |  

22.  PQ is chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q 
intersect at a point T.  Find the length of TP. 
एक 8 cm ǒğÏया वाले व×ृत कȧ  जीवा  कȧ लàबाई 5 cm हɇ | यǑद P तथा Q से èपश[ रेखाएं T 
पर काटती हɇ तो TP कȧ लàबाई £ात कȧिजये |  



 Section – D 23. A train travels at a certain average speed for a distance of 54 km and then travels a 
distance of 63 km at an average speed of 6 km/h more than its average speed. If it 
takes 3 hours to complete the journey, what is its original average speed? 
एक रेलगाड़ी 54km  कȧ  Ĥारंͧभक दरूȣ ͩकसी औसत चाल से तय करती हɇ तथा  उसके बाद अगलȣ    
63 km कȧ दरूȣ  उससे 6km/ h अͬधक औसत दरूȣ से तय करती हɇ | यǑद वह पूरȣ याğा करने मɅ   
3 घंटɉ का समय लेती हɇ तो उसकȧ Ĥारंͧभक औसत दरूȣ £ात कȧिजये | 

Or A two digit number is such that the product of its digit is 18. When 63 is subtracted 
from the number the digits interchange their places. Find the number. 

           दो अंकɉ कȧ एक सÉंया के अंकɉ का गुणनफल 18 हɇ | जब सÉंया मɅ से 63 घटाया जाता हɇ तो अंक   
अपना èथान बदल लेत ेहɇ | सÉंया £ात कȧिजये | 

24.  A 2m tall boy is standing at some distance from a 29 m tall building. The angle of 
elevation, from his eyes to the top of the building increases from 300 to 600 as he 
walks towards the building. Find the distance he walks towards the building. 
 एक 2 मीटर कȧ ऊचाई वाला लड़का 29 मीटर लंबे भवन के सामने कुछ दरूȣ पर खड़ा हɇ | जब वह 
भवन कȧ ओर चलता हɇ तो  उसके आँख से भवन के ͧशखर का उÛनयन कोण 300 से  600  हो जाता 
है बताइए वह ͩकतनी दरू भवन कȧ ओर चलता है ? 

25. Find four consecutive terms in A. P whose sum is 20 and the sum of whose squares is 
120.  
स. Įे. के चार लगातार पद £ात कȧिजये िजनका योग 20 तथा उनके वगȾ का योग 120 हɇ | 

26. Prove that  
ͧसƨ कȧिजये  
(Sin Q + Cos Q)/ (Sin Q – Cos Q) + (Sin Q – Cos Q) / (Sin Q + Cos Q) = 2 / (2 Sin2Q – 1). 27. Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the 
squares of its diagonals. 
ͧसƨ कȧिजये ͩक समचतुभु[ज कȧ  भुजाओं के वगȾ का योग उसके  दोनɉ ͪवकण[ के वगȾ के योग के 
बराबर हɇ |  

 



Or In an equilateral triangle ABC, D is the point on the side BC such that BD = 1/3 BC 
prove that 9 AD2 = 7 AB2.  
एक समबाहु ǒğभुज ABC  मे BC, भुजा पर एक ǒबदं ुD इस Ĥकार  है ͩक BD = 1/3 BC      
हɇ | ͧसƨ कȧिजये 9 AD2 = 7 AB2. 

28. Construct a triangle ABC in which AB = 4 cm, ∟B = 1200 and BC = 5 cm. construct 
another triangle AB’C’ such that AB’ = 4/5 AB. 
एक ǒğभुज ABC कȧ रचना कȧिजये िजसमɅ AB = 4 cm, ∟B = 1200 तथा BC = 5 cm हɇ | एक 
अÛय ǒğभुज AB’C’ कȧ रचना कȧिजये िजसमɅ AB’ = 4/5 AB  हो | 
 

29.  A field is in the form of a rectangle of length 20 m and width 14 m. A 10 m deep 
well of diameter 7 m is dug in a corner of the field and earth taken out of the well is 
spread evenly over the remaining part of the field. Find the rise in its level.  एक आयताकार खेत कȧ लàबाई 20m तथा चौड़ाई 14m  हɇ | खेत के कोने मɅ 10m  गहरा 
तथा 7m  åयास  वाला एक कुआं खोदा जाता हɇ | खुदाई के दौरान Ǔनकालȣ गई ͧमटटȣ को  
खेत के शेष भाग मɅ बराबर फैला Ǒदया जाता हɇ ͧमटटȣ के èतर मे ͩकतना बदलाव आएगा? 

Or A wooden toy was made by scooping out a hemisphere of same radius from each end 
of a solid cylinder. If the height of the cylinder is 10 cm and its base is of radius 3.5 
cm, find the volume of wood in the toy.  
एक ठोस बेलन के Ĥ×येक ͩकनारे मɅ से एक हȣ ǒğÏया के अध[ गोले को काट कर बचे हुए भाग से 
एक ͨखलौना बनाया गया हɇ | यǑद बेलन कȧ ऊचाई 10 cm तथा उसके आधार कȧ ǒğÏया 3.5 cm 
हो तो ͨखलौने का आयतन £ात कȧिजए | 

30. The median of the following data is 525. Find the values of x and y if the total 
frequency is 100.  Ǔनàन आंकड़ो का माÚयक 525 है | यǑद कुल बारàबारता 100 हो तो x तथा y का मान £ात 
कȧिजये | 
Class interval frequency 
0 -100 2 
100 -200 5 
200 -300 X 
300 -400 12 
400 – 500 17 
500 – 600 20 
600 – 700 Y 
700 – 800 9 
800 – 900 7 
900 - 1000 4 
 


